Raspuns

A — NaOH 2p

B—HCI 1p

C — MnO,, NaCl 2p+2p

D — Na,COz'10H,0 [5p

E —amidon 1p

1- A|(NO3)3 2 p

2 — H202 2 p

3 — AgNO3 2p

4 —NaHCO;3 2p

5—Na,S, KOH 2p+2p

1+4: AI** +3HCO; = Al(OH ), L +3C0, T 0,5p
1+5: A" +30H = AI(OH ),y 4l(OH ), +30H =[4l(0H),[" 0,25p +0,5p
1+A: AI* +30H = Al(OH), 4 4I(OH), +30H =[4l(0H),}"

1+D: 241°* +3CO;” +3H,0=241(0H), L +3C0, T 0,5p
2+C: 2H,0,—"% 52H,0+ 0, 0,5p
3+4: 24g" + HCO; = Ag,CO, ¥ +H* 0,5p
3+5: 24g" + 87 = Ag,S 1 0,25p
3+A: 24g" +20H = Ag,04 +H,0 0,5p
3+B: Ag"+Cl” = AgCl 0,25p
3+C: Ag* +Cl™ = AgCI

3+D: 24g" +CO? = Ag,CO, 4 0,25p
4+B: HCO; +H* =CO, T +H,0 0,25p
5+B: OH +H' = H,0 S* +2H" =H,ST 0,25p + 0,25p
A+B: OH +H'=H,0

B+D: CO; +2H" =CO, T +H,0 0,25p




